Your name here


1. Perform the following multiplication in detail.  
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2. Express the following float as a decimal number.  

Sign

	1


Mantissa

	1
	1
	0
	0
	0
	0
	1
	1
	0
	0
	0
	0
	1
	1
	0
	0
	0
	0
	1
	1
	0
	0
	0


Exponent

	1
	0
	1
	0
	1
	1
	1
	0


	


3. Express the following decimal number as a float.  Use 1 bit for the sign, 23 bits for the mantissa, 8 bits for the exponent.  Do not use two’s complement.  The exponent uses “biasing.”  

 123456.34567

Sign

	


Mantissa

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


Exponent

	
	
	
	
	
	
	
	


	


4. We intend to add the two floats shown below.  Show how the mantissas are prepared for this addition.

Sign1

	0


Mantissa1

	1
	0
	0
	0
	1
	0
	0
	0
	1
	0
	0
	0
	1
	0
	0
	0
	1
	0
	0
	0
	1
	0
	0


Exponent1

	1
	0
	0
	0
	1
	0
	0
	1


Sign2

	0


Mantissa2

	1
	1
	1
	0
	1
	1
	1
	0
	1
	1
	1
	0
	1
	1
	1
	0
	1
	1
	1
	0
	1
	1
	1


Exponent2

	1
	0
	0
	0
	0
	0
	1
	1


Mantissa1 prepared for addition

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


Mantissa2 prepared for addition

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


